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HPEH—TH 743 381 362  270[mrE—TH 1059 539 520 452
HEEH-TH 511 253 258 180[#ar E= T8 1,364 697 667 518
HEEH=TH 568 271 297 222l E=TH 751 370 381 263
HPEHMWTH 462 231 231 1623 EmT B 596 308 288 237
HEEHATH 560 271 289 222l EETH 1077 522 555 394
HEEHATH 1099 539 560 413y EATH 762 390 372 267
HPEHLTH 808 401 407 306y EETE 753 383 370 262
HEEEH/\TH 848 418 430  306|amrE—TH 696 351 345 275
N 332 185 147 124| AR E=TH 455 230 225 160
Flith 186 99 87 58| AR E=TH 751 363 388 297
TR 68 41 27 23| ARy EMTH 1426 733 693 478
55 884 432 452  278|@mirE—TH 12 6 6 9
%Iz 109 52 57 33| WA E=TH 775 423 352 354
zF 445 211 234 144|@FRs E=TH 609 311 298 252
PN 1525 747 778  530|@mis EMTHE 599 302 297 242
KA 1574 780 794  552l@mis ERTHE 1,028 506 522 398
TR 1510 824 686  603[mETa—TH 753 369 384 317
PNIIE - 136 64 72 38 aBTEa=TH 704 338 366 283
KA 578 275 303  210|mmA=TH 761 366 395 296
WA 1,171 583 588  375|METAmTE 720 365 355 267
ONLBE—THE 884 470 414  340|mmTAETE 997 505 492 337
UNLB=TH 1918 966 952  737|mETAATE 740 364 376 255
ONLB=TH 1232 655 577  443|mEtAatTE 1,115 542 573 377
*£E—TH 487 242 245 169w e —TH 615 316 299 229
*£E-TH 495 262 233 165|=Mm&—TH 1030 524 506 334
*E=TH 577 208 279  213|=mmia=TH 625 313 312 220
*EmTH 480 240 240 171|=mm&amT 885 404 481 310
*ERTH 318 165 153 112 =maRETH 744 373 371 261
Fsh—TH 979 502 477  381|=mmAATH 502 261 241 210
k= TH 311 147 164 130|Z=MmE+tTH 710 371 339 282
hmh=TH 447 237 210  217f& = 63,938 32,265 31,673 24,169
R pn T B 212 110 102 142  HEREXRAEAD
Al 1373 698 675 530  a7E L
HAYTE—TE 679 351 328 258 A 0O 8 A
H&4~E-TH 2130 1061 1069 839 (5 8 Al
HA4E=TH 2320 1,163 1,157 920 (% 16 A)
ARET 6,788 3459 3329 2,749 HE% -3 fit
eEs—TH 4ok 241 218 0T R A R Bad
[THEE-TH 837 417 420 326 xEM24ETBIADERELY, HNEAERLEREREIED
[FTo=5=TH 1,265 646 619 479 MEEWUELL
(FRE4mTH 779 383 396 237 SEA4EAAND
FYEEHETH 539 276 263 247 A 0O 706 A
[FEAATH 703 373 330 282 (5 208 A, % 408 A]




